





$$\mathbb{E}DO(1) \left\{ \begin{array}{l} L - \left\{ \begin{array}{l} CC \\ CV. \end{array} \right\} \left\{ \begin{array}{l} H \\ NH. \end{array} \right\} \\ NL - \end{array} \right.$$

$$\mathbb{E}DO(n) \left\{ \begin{array}{l} L - \left\{ \begin{array}{l} CC \\ CV \end{array} \right\} \left\{ \begin{array}{l} H \\ \cancel{NH}. \end{array} \right\} \end{array} \right.$$

EDO (n) 2 CV NH

$$a_0(x) \frac{d^2 y}{dx^2} + a_1(x) \frac{d^{n-1} y}{dx^{n-1}} + \dots + a_{n-1}(x) \frac{dy}{dx} + a_n(x) y = Q(x)$$

$$y_g(x) = C_1 y_1 + C_2 y_2 + \dots + C_n y_n + F(x)$$

~~$y_i$  soluciones  
particulares  
fundamentales~~

solución  
particular  
debida a  $Q(x)$

condiciones (n)  $\left\{ \begin{array}{l} \text{iniciales} \\ \text{frontera} \end{array} \right\}$

$$y_p(x) = A y_1 + B y_2 + \dots + Z y_n + F(x)$$

solución particular

$$\frac{d^2 y}{dx^2} - 2 \frac{dy}{dx} + 2y = 5e^{2x} \quad \begin{cases} y(0) = 4 \\ y'(0) = -3 \end{cases}$$

$$\text{EDO}(2) \subset \mathbb{C} \text{ NH.}$$

$$y(x) = C_1 y_1 + C_2 y_2 + F(x)$$

$$\frac{d^2 y}{dx^2} - 2 \frac{dy}{dx} + 2y = 0$$

$$y_H = e^{mx} \quad \frac{dy}{dx} = m e^{mx} \quad \frac{d^2 y}{dx^2} = m^2 e^{mx}$$

$$(m^2 e^{mx}) - 2(m e^{mx}) + 2(e^{mx}) = 0$$

$$(m^2 - 2m + 2) e^{mx} = 0 \quad e^{mx} \neq 0 \quad m \neq -\infty$$

$$m^2 - 2m + 2 = 0 \quad \text{ecuación (A) característica}$$

$$m = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \Rightarrow \frac{2 \pm \sqrt{4 - 4(1)2}}{2}$$

$$m = \frac{2 \pm \sqrt{-4}}{2} \Rightarrow 1 \pm i$$

$$y_H = C_1 e^{(1+i)x} + C_2 e^{(1-i)x}$$

$$y_H = C_1 e^x \cos(x) + C_2 e^x \sin(x)$$

$$y_{NH} = C_1 e^x \cos(x) + C_2 e^x \sin(x) + \frac{5}{2} e^{2x}$$

$$y(0) = 4$$

$$4 = C_1 e^{(0)} \cos(0) + C_2 e^{(0)} \sin(0) + \frac{5}{2} e^{(0)}$$

$$4 = C_1(1)(1) + C_2(1)(0) + \frac{5}{2}(1)$$

$$4 = C_1 + \frac{5}{2}$$

$$\frac{dy}{dx} = C_1(-e^x \sin(x) + e^x \cos(x)) + C_2(e^x \cos(x) + e^x \sin(x)) + 5e^{2x}$$

$$\left. \frac{dy}{dx} \right|_{x=0} \Rightarrow -3 = C_1(-1)(0) + C_1(1)(1) + C_2(1)(1) + C_2(1)(0) + 5(1)$$

$$-3 = C_1 + C_2 + 5$$

$$4 = C_1 + \frac{5}{2} \quad C_1 = 4 - \frac{5}{2} \Rightarrow \frac{3}{2}$$

$$-3 = \left(\frac{3}{2}\right) + C_2 + 5 \quad C_2 = -3 - \frac{3}{2} - 5$$

$$y_p = \frac{3}{2} e^x \cos(x) - \frac{19}{2} e^x \sin(x) + \frac{5}{2} e^{2x}$$